SUMPORIESNILTOI S s
—MRAEFEAY AT F IR EHEE S
RRMTFRARXAHHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

SuMPO EPD
F1TNEREBEEE (EPD)
ik - JR-AI-25205E

SuMPO

..E PD

1AP AN

VERIFIED

FUJIFILM

Value from Innovation

BEOML EYRR A/R-YavkAa
FUJIFILM Business Innovation Corp.

A3 HS—EEaH (BEK)

Remanufactured Product

A3 Color Multifunction Printer

ApeosPort-VI C6671 RC (for JP)

cassnds
| —
T—
— =

B{fIZApeosPort-VI C7771 TIH'., ER(FApeosPort-VI C6671 LEIFENTUVET,
Apeos. Apeos 07\ ApeosPro. ApeosPort . 8&U ApeosPrint (&, EXIMIAESRIAA IN=2a KRS OEREIEFTEIECT,
Xerox, Xerox OJ\ 8&UFuji Xerox 01, KECOVI A OSHFREIEFFEIZETT,

HEH(L ERES JR-AI-25205E
e 1 ERY ERAPCRES  PA-590000-Al-08
PCR% B A H D ER
HEMRERRE UNEGIS! 202618230
WK O rhRaEt RIESHEE 2025412828
OEMEFEE QEE Q@B @A - REEA R YATLRRAEA R
®FZE- YY1 RALES 2025-FB-EL-060
RIAEEEAR  2030&1281H

HmOBER, FTEMLER-FET

itk : ApeosPort-VI C6671 RC
FEMARR N-EEH EPAR)
EIRIZEEE : £/70 65ppm (A4 LEF)

15— 65ppm (A4 LEF)
BEABHEYIX 1 SRA3(320%x450 mm).

12x18"(305x457 mm). A3
FUYb/AE—/AEwD /FAX

PCRLE1I-DENE
REBZE 2023F 98 1H
ZER W5 Ex
(FrE —MEEE AT AT F IR EHEERE)
E=EIRAE 1B H#T
SNEBIREES

ISO14025(CHE>T=ARE E R UT - DIMIL LIRS

T FRIEE/ADF(R T B 8h50A ) CIAER W AER
*YAT LR EZ B ENORIOB S, VAT LRIAETLBEED
ZRIERLH,.
Buahtse BEIAMIVLAESHRRAAIN—S3>REHt
EEhAXHREHFSV6T HIE
https://www.fujifilm.com/fb/
E§ES © JR-AI-25205E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

0 SUMPOBRIEINITOIF L

5Elnl l:“:)D SuMPO EPD —MEAEBEAY AT F IR E S

q ) 'l o 4T NBEZE (EPD) ERAT A EXAHE1-14-8
VEREEEED KANDA SQUARE GATE

BRES JR-AI-25205E https://ecoleaf-label.jp

517917V R Bl fE R
A - HERF

FREEERR | BLERRK BB o BB
S[EEH - 5F kg-CO2eq 3.31E+02 3.10E+01 3.98E+01 4.43E+02 1.68E+02
AV BHEIE kg-CFC-11eq| 4.46E-05 4.89E-08 2.63E-08 2.08E-05 3.85E-08
EXREL kg-PO.3-eq 1.21E-02 1.18E-03 1.87E-04 2.74E-02 2.18E-04
[izqc2id kg-SOzeq 1.17E+00 1.99E-01 6.68E-02 1.90E+00 1.88E-01
HALREAFII VL kg-CzHseq 8.97E-03 6.44E-05 4.51E-04 4.37E-03 1.51E-03
FEMERES - L9 kg-Sbeq 5.32E-01 1.09E-04 1.35E-05 2.49E-01 3.73E-05

F1TH1I WA YR M) SR BE R R
—REROERICEEY B3R

FREEGE | RERE | AR EE;:*% B
BAARE—RER - IRILF- (RPRY) MJ 9.03E+02 2.50E+02 9.74E+00 2.03E+03 8.42E+01
BETE—REE - ITRVF-2EHE (RPRy) M) 1.47E+01 4.20E-03 2.52E+02 7.96E+02 157E-02 | #
FEBAETIRE—REIR - TRILF— (NRPRp) M) 5.80E+03 1.04E+03 4.62E+02 9.80E+03 9.84E+02
FBETHE—REE - TRVE-2EHE (NRPR,) M) 1.22E+03 3.17E-01 2.83E+00 1.40E+03 2.02E-01
RKDHEEE m? 3.02E+00 2.59E-02 2.65E+01 8.54E+01 1.51E-02

HERRICEITZEMIER
-BARZHAFEELTEELELE,
-EEHEEPAR)DIZEYFTUATHELTVET,
‘B RO EFERRREIZSERTY,
(EA - SRR HEIZERIBROBTEEFNE A,
(FEARBOEA . IRVF-R9-T0JILVer3 28 ¥ (SR> CAE LETECEETICEE LELE,
- 18 E ENRIMER . 633,60012TF,
1/4x 32 (Y37/B) x 66 (1) x 5 (B) x 4 GB) x 12 (7 B) x 5 (£F) = 633,6001%
AHBFIRFTROERZFAEBNSERUEREBEANALTSY . EMATAZERE LSV IBEBROBTEIERLTEELTNET,

ZOtDIRERIEFIR
CIRNF-RY-T0Y5LVer3 2 EE,

MRBLUMEICRY 3BRR S FEVEICETSER

mE-ME (ERHBS) Bifif =] CAS No. ETE
s 77 kg - - _
sus 13 kg - _ _
FIIZOL 0.85 kg
0T 13 kg FERALE=RF-IDEZH
T5AFYY 43 kg R EALE, LCIF-FN-RIDEA Ver3.4, SUMPOBREESAN TOIS LT -Y
di 0.30 kg Ver1.16&fEALTVEY,
A 22 kg
AN 9.3 kg &
R B BREAR 53 kg -
gt 8.6 kg
zZoft 6.4 kg

@7 -YEENDH L. PCRELVEE - EERBESBLTEZIL,
OLLRIIDVWTR. BE EERBCHEINERGEHELLLSELCLARONEE A,
(BER5EURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

